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X —a _
n @Sdéozbrooa)zg @00 a > 0 o Lt — =na"?
X=>a -
in x
e 3NX—q
X-0 X
tan x
Lt X _q
Xx-0 X
X
-1
Lt £ 72y,
Xx-0 X
a*-1
Lt =log. a,
X-0 X

1
Lt l+x)* =e,
X-0

X = —00 X

1\ 1)\
Lt [1+;) =e OB Lt [1+—) =e
X — 00

SV XTI (PF) 0

Lt 2 _ g2
1 X - a QDS QHL .
Lt 24w Lt _
Sol: x_a>_*@ :an(x+a)(x a) _ Lt (x+a) =a+a =2a
X—a X—a X—>a

2 Lt 20082 SoSR0fF 5050

X-0 X

Sol: Lt x% Lt cosg=0.kWhere kj<1=0
Xx-0 x-0 X

AL G
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2 _§)

4. Xx->I\x+1 X
SOI'GL= Lt( 2 —E): 2 —E:E—E :4;9 :__5
T xZa2\lx+1 o x/ 241 2 3 2 6 6

5. 300 'a::)‘)é DRVOITPOLD DEED,HE DV SO BT 'Qt:)')é QoD Sl

DG ByHOVBO 908 FE 30dod.

1-x if x<1
f(x)= _ ;a=1.
A. 1+x if x>1

Sol: LL at x=1 is Ltl 1-x=1-1=0
X-1—

Rlatx=1is Lt (1+x)=1+1=2
X -1+

Lt f(x)# Lt f(x
L f(9# Lt (%)

—

O Xlef (X) 938 sb&b.géo B°C.

x+2 if —1<x53_

B. f(x)={ 5

_ ;a=3.
X if 3<x<5

Sol: LL= Lt (x+2)=3+2=5

X—>3_

RL= Lt f(x)= Lt x?=3>=9

X -3+ X3+

Lt f(x)# Lt f(x
L (x) gl (x)

Lt f(X) €298 .bsé‘?oéo 1527 })
X3 (]

1 if x<0
C. f(x)=<2x+1 if 0<x<l;a=1
3x if Xx>1
Sol :
LL= Lt f(x)= Lt 2x+1=2(1)+1=3
X—>1_ X—»l_
RL= Lt f(x)= Lt 3x=3(1) =3
X -1+ X -1+
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Lt f(x)= Lt f(x)=3 O Lt f(x)=3
X—»l_ X—>1+ X—»l

X% if x<1

D. f(x) =9 x if 1<x<2;a=2
x—3 if X>2

LL= Lt f(x)= Lt x=20

X—>2_ X—>2_

RL= Lt f(x)= Lt (x—-3) =2-3=-1

X 2+ X 2+

Lt f(x)z Lt f(x).

X 2—- X 2+

Lt f(X) €98 ézgé?oéo S0
) ®

-1 Q) TP
X-2- X—2

Sol: X5 2-=>Dx<2= Xx-2<0

= [x-2=-(x-2)

Lt x-2 _ Lt M:-l
X-2- X—=2 y_,2- (X=2)
2|X _ "
7. Lt [+ x+1] = 3. @ g0
X-0+\ X

Sol: X->0+=x>0= |x=x

O Lt (M+x+1)
X- 0+\ X
2X
= Lt (—+x+1) = Lt (2+x+1)= Lt (2+0+1) =3
X—0+\ X X 0+ X - 0+

8. Lt ([x]+ x) 208050
-2+

Lt ([X] + X). ©R0EL0 000
X —>2_

X

Sol: Lt {[X]+x.= Lt {[2+h]+(2+h)} =[2+0]+2+0 (-[2"]=2) =2+2=4
X 2" h- 0+

Lt {[x]+x} =[27]+2 =1+2=3
X—2—
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Sol :

10.

Sol :
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Lt V2-x(x<2). $0F0&80 Lt V2 - x? Dend o

X 2— X2

Lt v2-x= Lt J2-(2-h) |+ Lt f(x)= Lt f(x)
= Lt vh=0

h- 0+

X > 2" =>x>2=>x-2<0

RIDYEIVX — 2 T°RDO0 S
BP0V X > 2 YOIV :)dsé)ox)aaado. BP0 X > 2 900D OHAE
9O $H0839ocsd.

5PN Lt v2-x= Lt v2-x 0 Lt Vv2-x=0

Lt 1+ 2x. S8 &8080 Lt J1+2x Dend dosh
1

x- () X =

NI

Lt J1+2x= Lt \/1+2[
+

. 1 h-0

—%)+h}= Lt J1-1+2h=0
h

- 0+

NI

X < ‘71 DONIDYE L+ 2x TR0 . TEDD HBOCHIOX < _719090:):)3&3

DBDODDERD. SRS X < ‘71 waIHYE left limit ©09BousB.

1

SN Lt 1+2x = Lt J1+2x=0
+

NI

1
X - 5 X >
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1. Lt Cos:
X~ 2 [ 2}

Sol : y:x—g 29 308’ 00 @X.)Dc&)x - g,y - 0 and

0800 Qa0

T

COS+y) i
ceyedn o s B2 g ey
LT x-Z y-0 Y y-0
X=5 X~
1. Lt 20 55s0F 80080
x » 0 XCOSX
| Ly Snax
Sol: Lt -Snax _x-0 8% _a_,
%0 XCOSX Lt cosx 1
X-0
(2x2—7x—4)
Lt
13 X2 (2x-1)(Vx - 2)
2 o < Ix +2)(2x +1
Sol Lt 2xc —-T7x-4 - Lt (x—4)(2x+1) - Lt ( )( )

xo2 (2x-)(Vx-2) x2 (x-1(Vx-2) x_2 (2x-1)

(\/§+2)(4+1) b 5(2+\/§)
(4-1) 3

14. Lt w L0E20F 20800
X—>1 (X _1)

so. Lt SNOXTD -y Sn(x=h) o sn(x-y) L, L
xo1 x2=1 xo1(x=D(x+1)  x.1 (x-1) x.1x+1

y=x-1 0000 @dyx -1y -0

g Sy 1oy

NI
N[
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sin(a+bx) —sin(

37D%) e 0800

15. Lt
X-0 X
Sol: Lt sin(a+bx) —sin(a-bx) _ Lt 2cos a.sinbx
X-0 X X0 X
= Lt 2cosa. Lt smbx.b:ZCosa. b = 2b. cos a.
X—>1 X_,O bX
6. Lt DT 02 0) o8 s0sm

Xoa X —a’

Sol: Lt tan(x—a) _ Lt tan(x —a) _ Lt tan(x — a) Lt 1

xa X -al xoa(Xx—a)(x+a) x_.a (x—-a) x_a(x+a)

Xx—a=h @mé"mmo.esbsdoxﬁ ah-0

h-0 h a+a a 2a
2x - 1) (+V/x -1
g L PO e

X1 (2x2 + x—3)

Sol: Lt (ZX_Zl)(&_l) = Lt (Zx_l)(&_l)
Xx-1 2X°+x-3 x-1 (x—1)(2x +3)

I ¢ -1)(Vx -1)
- x_,1(\/; —1)(\/—x +1)(2x+3)

21-1 _ 1 _1
(Vi+1)(21+3) (1-15 10

2
18 Lt T2 a0
X-3x°-6x+9

2 2
Sol - Lt X +3x+2= Lt X°+3x+2 :9+9+2:oo
X-3x2-6x+9 Xx-3 (x-3)2 0
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3x%2 +4X+5

19. Lt3—msmﬁ°mé&)
Xo0l2X +3X-7
2 3+4+5)X2 (3+4+5)
3X°+4x+5 _ X X2 _ X X2
Sol : Lts—_ Lt Lt
X—>002X +3x-7 X—>00(2.|.3_7)X3 X—>°°2+i_l
2 3 2 3
1 1 1
X_;OO,—,—'——>O
X x% X3
- L 3x2+4x+5:(3+0+0)'0:0
X-02x3+3x-7 2+0-0
2
- X+
20, Lt XX et snsn
X — 00 X+3
of. 1 7
2 X(6—+)
— X+ 2
Sol: Lt X TX*F7 X_ X
X - 00 X+3 X — 00 X(l+3)
X
1 7
6-=+
2 _
Lt XSX.Lt -6-0+0, - o
X - 0 1+7 X - 0 1+0
X
2, Lt I e s
x-0 3|x — 2x
Sol:as X —» o = |x = X
Lp S +3x o 8x+3x I

x503X —2X x_Lw3X—2X x_,w X

X% +5X + 2

22. Lt 50— BOEBH B
X—-002X° —=5x+1

2[ 5 2}
2 X 1+*+72
Sol: |t X +5X+2 _ Lt X X

X-002X> =5X+1 X oo X2(2_5+1)

X 2

x
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As X - oo.landi2 - 0
X X
1+§+£
Lt X° +5x+2 _ Lt x x2 _1+0+0 _1
X-02x? —5x+1 Xx-w, 5, 1 2-0+0 2
X x2

2n Lt (Xl __ 4 ).msmﬁ".:na»
2

X = -2 X2—4

Sol: Lt(l —24 j: Lt%H
X2 X=2 X° -4 X2 X -4
- Lt x2—2 _ X—2
X2 X°=4 x_2 (x=2)(x+2)

+ —
=g Xremad

3
+
24, Lt X' ey toam
X—>=0\ox4 41
g 4
. X — —00 ‘/2X4+1 X — —00 X2 /2+i
X4
s+ 4
= Lt x Xl
X - —0 \/§+7
X
11 1 1
As X - —00, = — — — .0
X X2 X3 X4
5% + 4 5
Lt (—o0) = (—®).—= = -0,
Xo»—2x* +1 V1
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5. Lt (Vx+1-+vx) g20f 080

X— 00

(x/x+1—x/_x)(x/x+1+x/§)

Sol : Lt (\/X+l—\/;): Lt

1
+ —_
= 1 2ATX oy 1 = —x - 0
x—o0 VX+1+X X—>°°\/§(\/1+1+1 x-o iy lyq 11
X X
2+sinx

26. Lt ——— S0 B0
X0 X +3

2 +sinx
2+snx 2+snx ' 2 2
Sol : Ltz—: Lt ———— = _ = Ltﬂ: L X X
X0 X +3 X — 00 X2(1+3) X — 00 X2 1+3) X — 00 (1+3)
NG X2 NG
as X — oo, iand X 0. -1<snx<1l)= 0+0:O
X2 NG 1+0
27 Lt 273 20 wd drdnam
X-0 l‘xz_g‘
|x—3|_|x—$

Sol: For x2 #9,

gl Vix+s
Lt3w/|x—34 =0, Lt3\/|x+3| =6
X - X -

X-3 ~0

Lt =
X_>3"X2 _9

O

28. Lt ax_]l'(a>0,b>0,b¢1). S0 a0

X - 0p*

X—
Sol : Forx;'iO,aX 1 X
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a¥ -1
Lt a‘-1_x-0 x _log
Xx-0b* -1 Lt b* -1 logy
Xx-0 X

2
20, Lt 2XO5 X 4388080
x - X+ 2007

2+ cos? X
x -0 X + 2007
2+cos? X

_ X
B x':tw X + 2007

Sol.

30, Lt £ 4@

X -0 X
X _ o _ X _ :
Sol. Lt & —SInX 1_ Lt {e 1_smx}
X-0 X X-0 X X
Lt (ex—lJ_ L¢ Sinx
Xx-0 X Xx-0 X
=1-1=0
_ Iog(1+x3)
31, lim———
x-0 gn”x
Iog(1+x3)
_ Iog(1+x3) . &
Sol. lim——-— =lim——-=5
x-0  gn”x x-0  §n°X
X3

1
H 3\.,3
_limiog(1+x')¢ joge _
sin®x N
3

lim
X-0 X
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33.

O—sin(nsinzx)* TIsin?x

lim —
x-0 TISiN“X X
=1IXT=TT

2

IimIog(1+5x)
x-0 X

ool lim 29 (L+5%)
x-0 X

1
=limlog(1+5x)x
limlog (1+5x)
=lime’
X-0

=5X1=5
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Sol :
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QO DT FTS (PH

} S0fF 0800

xsna—asnx
Lt [
a X—a

X—

Lt Xxsna-asnx _ | (xsina-asina) - (asinx - asina)
X-a X—a X-a (x-a)

(Adding and subtactin a sina in Nr.)

X —a)sna-a(snx-sna X —a)sna sinx —sina
Lt ( ) ( ): Lt ¥— Lt a(—)

X - a X—a X - a X—a X-a X—a

2cos X8 gpX=2 sin(x_a)
: ' . +

=sna-—-a Lt 2 2 =sna-a. Lt cos(x + a) 2
X-a X—a X-a 2 X->a (X—a)

2

=sna-acosa—1=sina—- acosa

Lt [cosax—cosbx} S35 30500
X-0 )(2
. (a+b)x . (b-a)x
cos ax —cosbx _ R 2 SN 2
Lt = Lt
X—»O X2 Xx-0 X2
sin(b+a)5 sin(b—a)5
=2 Lt 2 It 2
X-0 X X-0 X
. X . X
sn(b+a)—= sin(b-a)—= _
=2 Lt sz(b;a).Lt sz(bza)
X0 b+a7 X-0 b_ai
(b+a) (b-a)]
:2.(b+a b—a) :i(bz—az)
2 2 2
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1 1
3 Lt [(1”)8'(1"‘)8 S0 2080
X-0 X
1 1
8 8
Lt (1+x) -(1-x)
X-0 X
Sol : 1 1
g a+x?-1+1-1-x°
X-0 X
1 1 8
_ (1+x)§—1+ Lt (1-x)s -1
(+x) -1 (@1+x) -1 (1-x).1 1-x) -1
::_Ll_7/8+il_7/8:1+:_L:£
8 8 8 8 4
1 1
Lt [(1+x)3—(1—x)3}:g €09 TIPEYHaA.
X-0 X 3
4.

X —
5, Lt {&} S0 302300

x-0] V1I+x -1
Lt &
x-0 Y1+ x -1 (3 -1)(Vi+x +1)
= Lt
Sol: = | -1  Jl+x+1 x-0 1+x-1
= 8 .
xe0 N x =L VLA XEL o 3 2 (Vv x )
(rationalise Dr.) x-0 X x-0
= (log3)(V1+ 0 +1) = 2.log3
Jva+2x —4/3x
6. Lt ( \/—) OE0F Bdd0
x~a| (V3a +x-2Vx)

Sol. XI:tal:((\/g:;/j;))} -
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Lt (\/a+ 2X —\/ﬁ)(\/a+ 2X +\/§)
X a (\/a+2x+\/§)

§ (V3a+x ++/4x)
(V3a +x - Vax)(v3a + x + \/4x)

L _at2x-3x  JBarx+Vax _ - (@-X(V3arx+Vax)  2(2a) _ 2
SaJa+2x +43x  3a+x-4x  x-a (x/a+2x+x/§)3(a—x)_2(x/§)3_3x/§

X

1+ x-31-

7. Lt X 808506 205500
X-0 X
1 1
3 3 3_ _ 3
sol: Lt AX-¥LTx o, @rx) —(1-x)
X-0 X X-=0 X
1 1 1 1
1+x)°’ -1+1-(1-%)° 1+x)° -1 1-x°-1_1 1
Lt = Lt N oy oM o172y 728
X0 X X0 (1+X)_1 X-0 (1_X)_1 3 3
1 1 2
= 4 - = —
3 3 3

- _ 2
5. Lt sin(x —a)tan

(X22) sosffaosm

X-a (X2_a2)
. _ 2 X 4 _ _ 2 _
soi: Lt Sn(x-a)tan (2x a) _ |, sn(x a)[ Ly fen(x a)j b g X a)2
=11 02 =0
(2a)
1-cos2mx
9. Lt f(m,nD—Z) QOE0F 80D
X-0 sn“nx
_ 2
Sol - Lt 1 _coZSme: Lt Zs.m2 mx
X-0 sn“nx X-0 g9n“nx
2sinzmx Lt sinmx 2
_ 23in2mxxx_2_ B X _ o\x-0 mx ><ﬂZ_Zm2
x-0 sn’°nx x* x-0 gn’nx ( Lt sinnxj2 n> n?
NG x>0 nX
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0. Lt (sz X - x) &30 20800

X —> 0

Sol: Lt VX% +Xx-X
X - 0
(\/x2+x—x)(\/x2+x+x/_x) 2+ x— 2 X
= Lt = LIt ————= Lt ——
X X+ X+ X X*°°x(,}1+1+1j Xﬁmx(,/1+1+1j
X X
Vvi+0+1 1+1 2

e -1
1. Lt |———|. $0fFd0d0
xqo{\/1+x —J

Sol: For O <|x <1

X _ X _ J e -1(V1i+x +1 X _
e 1 _ e 1 y 1+X+1= ( ):e 1(m+1)
Vi+x-1 V1+x-1 V1+x+1 14x -y X

- Lt -1 _ e -1

X-0v1l+x-1 x-0 X
LtOx/1+x+1=1.(«/1+0+1)=(1+1)=2
X -

12 Lt 22905 20 S0880f 2080

x-0 1—cosnx
Sinzm 2
2 ( mx
2| 2
Sol. Lt0 X = Lt0 2 —
X > .2 X - 2
2sn®— n Z(nsz
3]
2
ASX—»O,BAO,%HO
2 2
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sin ™
lim 2
m_o| MX 5 )
2
_ 2 m>_ . .m
- MR )
sin—
lim
™ o M
2
X_
13 Lt XE D oemnfsosm
x-01—CoSX
20X _
Sol. LtL];)(
*“Ox[2sin?Z
2
2 X _
= Lt > X><Lte !
x-»OZSinz x-0 X
2
X
x4 X
Lt 4 (Lte 1)
X 0pgn2 X\x-0 X
4
X
LAY 2X e €71
2%_}0 Snf X -0 X
2
=2(0)(1) =2
"+ .. +ax+
14.. f(x)= X WX e an> 0, b >0 @0VRADCED n>m. & Lt f(X) =0 DAL
b x™+...+bXx+b, X 00
"+ . . +ax+
Sol. f(x) =—onX T TAXT 5
b x" +..+bXx+b,
a, -1 & . &
: Xn(an+ » +,_,+Xn_1+xnj
4 b, -1 b, . b,
xm(bm+ mx + +Xml_l ij
a, -1 a |
+0 4 41 470
= x"m & X x" 1 x"
bm+bm_l+,_+ by +&
X Xm—l Xm
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0 Lt f(x)=oo

X — 00

g5, Lt XINZXTZXINX 000 037 00280
x-0  (1-cos2x)
X tan 2x — 2x tan X

x-0  (1-cos2x)?

Sol.

tan x

2
— Lt 1_tan .X2 >
x -0 (2sin“x)

2xtan[12—1}
- Lt 1-tan“ X
= —

x-0 4sin” X

_ g Xxtanx 1-1+tan®x
x-04sn’x | 1-tan*x

—2Xtanx

2x tan® x
x-0 49N X
2x* tan® x
= Lt ﬁdx
x-0Xx749Nn" X
4 3
=24 X g lanx
4x-ogn*x x-0 x°

21 21
=50@ =3

16 |_t &
' X-0|V1+ x=1]
NP

: -1 -1 _Nl+x+1
lim———— = lim X
x=0V1+x -1 x-0v1+x-1 ~1+x+1

= Iim(ex _1)( 1+X+1) = lim e -1
x-0 1+x-1 T x.0 X

(Vi+x+1)
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=1(V1+0+1)=(1+1) =2

17. Lt aX_i(a>0,b>0,b7t1). E0A" 050

X - 0pX
a*-1
s 1t B oLox=0 x _loge
Xx-0b* -1 Lt b*-1 log®
Xx-0 X
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